(EXEWEHRETE

TERGEMRENLIER

(2024 5/ E5F)

—HHEIT _ — _ — ZERRE | MER .
" E;iﬁ;ﬁ R TTH E;ij\t;ﬁ =R HETOHE BE M | OB Z-

N RAL# 20 50

SRR 50

BRAR SR T 50

FH B K18 23 50

pUIE=S 16 50

Hf B 2% 10 50

FERHAE X 128 SCHIRED A [X 4 50

ORI AR B X 17 50

TeniEriE 602 i H‘Hﬂfzﬁ% 10 50

S 5 50

W 3 50

FIIR T3, 6 50

R 4 50

Wbk 15 100

FHEH %1 2 100

Hl X 25 75 7K it 1 100

WAL E I 6 100

THREE [l 1 100




EHRHAT 31 SHRHA BT 18 % S %% A 4. 31 100
T FEAY 13 TG B T A % R S5 A 2 13 100
22 BE VG % 6 100
B 5 3 100
AL 2 100
PE 1 100
e X 36 FH B P4 2% 12 100
i 4 100
e i % 2 100
PN RS 1 100
e R RE 5 100
A 20 HEHT BT 8 1 K A 20 100
TS 7 TR BT 5 18 2% 2 %5 A 4. 7 100
22 2R 11 50
T % 20 50
FE L% 8 50
NG 15 50
AR 3 50
, el 4 50
pRilittx H KA 2% 1 50
I 5 6 50
(EPEEX- &N 1 100
¥ P P B I 11 100
FH B A 52 117 37 12 100
KA FE 2 100




paziLarls 6 100

LR ZE 1 100

i 45 BT 2 100

M X2 E 5 5 100

. AT B, 3 100
Bt X 39

HI R ] 100

B 8 100

YNTEPN S 6 100

Tl S 3 100

T H % 4 100

RE 16 100

TR 14 100
R 57

ekl PEE « ZE 1 100

TR 5 5 S B g A i [X 26 100

IR NAVE S B A X 19 100

. BEM (/NAA L B X 35 100
HrEER 58

el L9 b 3 1 100

T R B B B 2 B 3 50

VIERT 15 YRR BT A 15 100

. TEEERT BT TE B S 254 28 27 100
5 28

SRR TR 0 6 W 4% 79 ) 1 100

ANIIEE) 20 ANLLAS BT T8 8 S 25 A 2H 20 100

I A5 5 ] A B T B K 8 4 5 100

. FEN AT IE B S S5 A 2 24 100
+EER 26

i 16 EL55 A FIE P 2 100




BN BT IE % R SRR 27 100

e 31 e B 1 100

SRR 3 100

FHEH /N X 10 100

FH B A 40 FH BHAS Frish 18 i Je - 20 28 100

FH B LA 2 100

A7 CIRTE 30 6 100

5 bR 11 100

FKAT T % F %A . 20 100

WRUMK L 7 B 4 4 100

FMTE 1 6 50

N KA 75 FEH 2 2 50
FH BRI 45738 300 Ty : 100
e B [ B 11 100

4 5 R K 3 100

FHE] = 5 4 100

VS 3 100

AT 11 S RN SN YN NP 11 100

=) 21 FEB A FriE i f 5 A2 21 100

KEF 25 KN P % 5 R 25 100

=F i) 35 I R A R % e 5 40 35 100

SEAEAT 20 SEARA BT 8 2% S 5 AT 20 100

HEMN 41 BB FrETE B S AT AL 41 100

SROYR] 1 AT BT TE B S S AT 1 100

AKAiE 232 HHEER 68 NIRRT M 25 A 3 100




AK AT T 5 100

7+ % 4 50

M 1 100

ETF vk 5 50

eV % 1 50

B L 1 50

JNE L% 14 50

BT AR % 14 50

1257 % 20 50

9 A Jel KE 11 100
KA 1o B Bk 2% 4 100
ZRf 2 PN SN YN N 2 100
RBEAT 13 IR BEAT BT TE i S AT 13 100
ST 9 S WA BT % S 5 AT 9 100
Py 10 DA BT % S R 4 10 100
R 18 ERG RN SN YN Y NP 18 100
TETLA 9 TEVLAT AT 4% K %A 9 100
MEVON] 11 TE KA AT % 5 A 4. 11 100

W HERT 11 VO RS FriE i S 25 A2 11 100
AL 7 B TR S S5 7 100
RUEREAT 14 RUER AT I 1 1% B 35+ 401 14 100
KA 15 TR BT % S 5 4 15 100
WeFERT 30 PPN P T8 b S 5 AT AL 30 100
‘ KA 9 KA BT atd 1% S %5 A2 9 100
e o b 20 | HEH CTFE AN T B 2 100




LN

LAY Ot 2275 i/ o 3 EAE

L) ! 100
Pl 20 Pl BT TE S S 25 A 2 20 100
Fifi =E A5 7 Fifi SE AN BT T I e 25 A 7 100
e MRG0 2 % 5 A 4. 15 100
PETRHS 10 235 TRl P BT | 100
KA 13 K A T T8 4 K 25 2 13 100
KR 2 IR R BT TR 4 K A 2 100
LR 16 B IR BT I 5 e 5 AT 16 100
ANV 5 ANCEY NI Sl YNE Y D EE 5 100
BEALIRAS 1 FALAM BT T8 % f 54 21 1 100
PSRN GRS /N 22 B PE 22 Bt 32 2 13 100
- BETE FE )

WP 65 | UMMM 2 e N IR S B R 1
A 1 FEL DA ) 100
A 1 IR BT TE B S SR 2 1 100
I ZEN 3 I ZEN BTRETE B S A 2 3 100
FHAF A 2 FHMF A T as i S 25 21 2 100
BRIA A 2 WG WA B A T % T B % 25 A 2L 2 100
WA 9 R BT G B A % e 9 100
. " KA O BUR FE BAIE T E D 15 100
KA 49 KAR CRABUT EEATTE TR LA 5 100
2 NEVY] 2 KA AT ETE B S 25 A 21 100
/NEA 1 ANTE A TR T 4% I A 100




=& 5 AR TR E % R SR 5 100
AMAS 9 A T % e 25 A 2 9 100
SRRl 4 AT TR IE I S A 4 100
AR N 1 AR YLV S R YN EY K 1 100
TR 7 TEBUR BT i S 5 A 2 7 100
AT 8 T3 BT I % A AT 8 100
] HR 19 A AT % A AT 19 100
A INTTR BITEETE B K 5 AT 30 100
I o NS BRI 1 100
BrEAAT 3 BT BT P A B AT 3 100
N 109 PAAY 2 PR FITETE % 5 AT 2 100
TR 6 JCIRA Bl 8 4% B 25 A 2. 6 100
BEIRAS 9 PEIR AT T i e 25 A 2 9 100
e E A 5 e A TR % S SR A 5 100
IoIEAT 4 YOI BT % K AT 4 100
HRA R 5 HRA R T TE B R 55 4L 5 100
HR 7 LR TS TE B K S5 R 7 100
G & % 15 100
GEIb % 11 100
E2a 4 17 100
HItELe
o g e 72 AN 1 100
VaYiiik:s! 115 (ERIEAD e 5 100
IR AT 3 100
AR (BB 3 100
g LAY 8 VT FUA T T % e S5 AT 8 100




TN 1 TN BT R S AT 1 100
AT 2 SRAGA BT 4 K A4 2 100
EN 3 2N BT I R S AT 3 100
IR 5 DR FEA BT 4% S %5 AT 5 100
BRI A 1 BE LA B 4% A %5 AT 1 100
TEREAT 3 TEMBA It 4% S %5 A2 3 100
KMAS 3 KA It 4% S %5 AR 3 100
e 3 Ll B A TS TE B K S5 4 3 100
A3k AY 3 SN BT % S 5 AT AR 3 100
KFENT 3 IR FITEE % S 5 AT 3 100
ARARAT 2 ARARAT BTt i 4% K A2 2 100
AT 6 AT T A % % 5 A A 6 100
N (R Sl 2 /N 88 oyl sy = B2

o 30 50

AN R 38 AP
N (RS Sty 4 /N 58 oyl s = BT . 100

PENGELAD)
RPAT 9 KT BTt i 4% B 25 A2 9 100
10 NEH 112 /NS 11 INHUR BT TE % R 5 A AR 11 100
FIE LA 11 FIE LR T TE R S SR 11 100
2 M 14 BT T EETE B S S AT 14 100
G MAT 11 B PR TR K R 5 A A 11 100
Al 5 e A BT 4 K 55 A4 5 100
FZHUR 13 K2 HURS BT 38 % S %A 0. 13 100
1 N 9 EJEEH 23 %%‘eﬁﬁﬁﬁﬁ%&%ﬁéﬂ 23 50
KEERT 2 RFENT BT % S % AT 2 100




AR CYN) 4 AR YNNI S e N 4 100
SRS 9 SPMERT T B R S5 A 2 9 100
PR 8 P IEA TR K R 5 A A 8 100
A A 1 AR B % A A 4 1 100
ELivn] 13 TR BT 1 2% S 25 A 13 100
RAEMA 7 RAEMRS FriEE i J 540 7 100
HriZpt 13 PTIEAS P % A R 4 13 100
FEIERY 2 TEIERS P 1% S %R 4H 2 100
VAL IELHT /N X 6 100
AR 18 100
AGHA GBI E 4Lk P2 201 [HiE - 100
L REAGEIAD)
AT 50 AGHA GRS I E 4Lk P2 201 [HiE - 100
L/ IR(ENGELAD)
A AR = S i 8 100
FLpe e = s CRER RO 6 100
12 s A IE 267 TN/ X 2 100
ARCYN 20 ANV LN SR IV ES EE 20 100
ST 12 50
ZRRIb % 19 50
SePHALIX 64 A HEIL % 14 50
AR 1 50
i 18 50
e s 3¢ FH [ i 12 50
e 22 Ul SR AT 5 100




I E BRI X 4 100

AR Gk 1 100

TBEER 13 TE RN BT R % R 5 AR 13 100
T LA FrE e i S 54 20 100

r EIAT 28 g 1l 22 B /N X 2 100
Tz E AN 6 100

15 K 16 100

BT A T e e 5 A2 21 100

Brid st X 44 YIS 2 100
FARTENX 4 100

A AR R T ) 1 100

PR A 1 24 50

B 4E X 26 HH 1 100
HE 1 100

KA e % S 5 Ff 40 25 100

HAcseha) 2 100

. AR BN X 3 100
KIS » SR T % 1 100
J¥ R AR 4 100

13 At iE 231 e FA B NX 1 100
2 F % 24 50

BRI R 2 3 100

LM AEIX 65 T H e 2% 19 50
WA Pfr e 1 2 B 25 A 2L 12 100

53¢ HF R Hh 3 100




A5 A g 2 100

N IS 2 100

T A T T I S 2 A 28 100

— SHE TR s O 1 100
FEIH 3! AL B L () ] 100
R 1 100

, B BT B R 5 A 2 27 100
LR % FLpE TV X 3 100
JIT/NX 8 100

787 3 100

JITAEX 16 Eae kR 1 100
WS E R 1 100

FUAE A AT b 3 100

ks KA FriE e [ 5 A 2L 25 100
JOH 20 KB 1 100
=0k (ZICHFE=JohnhsE e EmD 8 100

= 7okt 24 =0k (ZICHFE=JohnmsE e E AN 15 100
1R R R E AR O 1 100

e AFRIFEE 2024 £ 1 A 17 H 0 B 00 2 e A3,




